










Statement -

I. Some pens are books.
II. All temples are books.
III. Some libraries are temples.

Conclusion -

I. Some libraries are pens.
II. Some pens are temples.
III. Some libraries are books.

कथन –
I. कुछ पेन ककताबें हैं।

II. सभी मंकिर ककताबें हैं।

III. कुछ पुस्तकालय मंकिर हैं।

कनष्कर्ष –
I. कुछ पुस्तकालय पेन हैं।

II. कुछ पेन मंकिर हैं।

III. कुछ पुस्तकालय पुस्तकें हैं।
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Q.. If + means –, – means ×, ÷ means + and × means ÷, then 

25 × 5 ÷ 8 – 4 + 7 = ?

(1) 44

(2) 30

(3) 7

(4) 24



Find the option which should replace (?)

540 : 992:: 145 : ?

(A) 784

(B) 576

(C) 776
(D) 921



Find the option which should replace (?)

57 : 8 :: 77: ?

(A) 4

(B) 5

(C) 6
(D) 7 



Find the missing one  (?)

850 : 368 :: 430 : ?

(A) 437
(B) 737
(C) 534
(D) 451



Find the option which should replace (?)

213 : 216 :: 291 : ?  

(A) 5832
(B) 324
(C) 361
(D) 295



Find the option which should replace (?)

213 : 30 :: 291 : ?  

(A) 81
(B) 80
(C) 84
(D) 125



Find the option which should replace (?)

TRACK : MECTV :: POND : ?  

(A) EOPQ 
(B) FPQR 
(C) GOQQ 
(D) HPPR



Find the option which should replace (?)

6415 : 5315 :: 7896: ?  

(A) 6785
(B) 6905
(C) 7795
(D) 6705



Find the missing term(?)

Moon : Telescope :: Bacteria : ?

चंद्रमा: िूरबीन :: बैक्टीररया:? 

(A) Microscope / माइक्रोस्कोप

(B) Binoculars / िूरबीन

(C) Lenses / लेंस

(D) Satellite / सैटेलाइट



Find the option which should replace (?)

9 : 28 :: 56 : ?

(A) 3

(B) 18

(C) 112
(D) 169



Find the MISSING (?)

16 : 4 :: 10 : ? 

(A) 2

(B) 5

(C) 6
(D) 4



Find the missing one (?)

48 : 122 : : 168 : ? 

1. 292 
2. 290 
3. 225 
4. 215



Find the option which should replace (?)

52 : 221 :: 20 : ?  :: 64 : 272

(A) 170

(B) 255

(C) 84

(D) 85



Find the option which should replace (?)

14 : 289 :: 25 : ?  

(A) 729
(B) 841
(C) 900
(D) 625



Find the option which should replace (?)

5*9*4=7

5*3*1=4

7*9*1= ?

(A) 5

(B) 6 

(C) 7
(D) 8  



Find the option which should replace (?)

8 : 128 :: 5 : ?  

(A) 125
(B) 625
(C) 50          
(D) 100


